## Homework:

pg 175 1,10,11,21

pg 186 3b,7,9,15,23,27,31,39

1) 
$$y = \frac{1}{2}x^{2}$$
  $x_{0} = 3$   $x_{1} = 4$   
a)  $M_{\text{sec}} = \frac{\frac{1}{2}(4)^{2} - \frac{1}{2}(3)^{2}}{4 - 3} = \frac{8 - \frac{9}{2}}{1} = \frac{7}{2}$   
b)  $M_{\text{sec}} = \frac{\frac{1}{2}(4)^{2} - \frac{1}{2}(3)^{2}}{x - 3} = \frac{1}{2}M_{-3} = \frac{1}{2$ 

1) 
$$y = \frac{1}{2} x^{2}$$
  $x_{0} = 3$   $x_{1} = 4$ 

C)  $h_{0} = \frac{1}{2} (x + h)^{2} - \frac{1}{2} x^{2} = \lim_{h \to 0} \frac{\frac{1}{2} (x^{2} + 2x h + h)^{2} - \frac{1}{2} x^{2}}{h}$ 
 $= \lim_{h \to 0} \frac{x h + \frac{1}{2} h^{2}}{h} = \lim_{h \to 0} \frac{1}{x + \frac{1}{2} h} = x$ 

10) a) at 
$$t=0$$
 position = 10 } dup=0  
at  $t=3$  position = 10 } dup=0  
avg  $vel = \frac{0}{3} = 0$ 

b) Inst.  $vel = slepe$  at  $t=0,2,4,8$ 

C) Interview is max at  $t=1$   
In ten is max at  $t=3$  (logset and (-1))

d)  $(2.5,15)$   $(3.5,5)$  Using ruler

 $m = \frac{5-15}{3.5-20} = -10 = 10$  Inst well at  $t=3$ 

- 11) a) Particle is moving faster at  $t_0$  at  $t_0$  m<sub>tan</sub> is (+) so vel is (+). at  $t_2$  tan is horiz (m=0) so vel is 0
  - b) horiz tan has m=0 so vel = 0 at start
- c) from  $t_0$  to  $t_1$  the tangents get steeper (going up) so the slope is increasing, so the vel is increasing.
- d) at  $t_1$  the  $m_{tan}$  is (+) and at  $t_2$   $m_{tan}$  = 0 so since the slope of the tan is decreasing, the vel is decreasing

$$S(2) = 9b \quad S(4) = 163L$$

$$V = \frac{\Delta S}{\Delta t} = \frac{1536 - 96}{4 - 2} = \frac{1440}{2} = 720 \text{ ft/sec}$$

$$t_0 = 2 t_1 = t$$

$$S'(2) = \frac{1}{t - 2} \frac{S(t) - S(2)}{t - 2} = \frac{1}{t - 2} \frac{6t^4 - 96}{t - 2} = 6 \frac{1}{t - 2} \frac{t^4 - 16}{t - 2}$$

$$t'' = (t^2 + 1)(t - 4)(t - 2) \qquad (64)$$

6 
$$\lim_{t\to 2} \frac{(t^24)(t+2)(t+2)}{(t+2)} = 6 \lim_{t\to 2} (t^24)(t+2)$$
  
6  $(8)(4) = 192 \text{ ff}_5$ 

3b) 
$$f'(x) = 3x+1$$
 (2,5)  
 $(2,5) (m=3) = f'(2)$   
7)  $f(3) = -1$  (3,1)  
 $f'(3) = 5$   $m_{+m} = 5$   
 $y-(-1)=5(x-3)$   
 $y+1=5x-15$   
 $y=5x-15$ 

9) 
$$f(x)=3x^{2}$$
  
 $f(x)=\lim_{h\to 0}\frac{3(x+h)^{2}-3x^{2}}{h}=\lim_{h\to 0}\frac{3(x^{2}+2x^{2}+h^{2})-3x^{2}}{h}$   
 $=\lim_{h\to 0}\frac{h(6x+bh)}{h}=6x$   
 $f(x)=6x$   
 $f(x)=h=18$   
 $f(x)=h=18$   
 $f(x)=h=18$   
 $f(x)=h=18$   
 $f(x)=h=18$   
 $f(x)=h=18$ 

13) 
$$f(x) = \sqrt{x+1}$$
 $f'(x) = \lim_{h \to 0} \frac{\sqrt{x+h+1} - \sqrt{x+1}}{h} = \lim_{h \to 0} \frac{\sqrt{x+h+1} + \sqrt{x+1}}{\sqrt{x+h+1} + \sqrt{x+1}}$ 
 $= \frac{1}{\sqrt{x+1} + \sqrt{x+1}} = \lim_{h \to 0} \frac{h}{\sqrt{x+h+1} + \sqrt{x+1}} = \frac{1}{\sqrt{x+h+1} + \sqrt{x+1}} = \frac{1}{\sqrt{x+1} + \sqrt{x+1}} = \frac{1}{\sqrt{x+1}} = \frac{1}{\sqrt{x+1} + \sqrt{x+1}} = \frac{1}{\sqrt{x+1}} = \frac{1}{\sqrt{x+1}} = \frac{1}{\sqrt{x+1}} = \frac{1}{\sqrt{x+1} + \sqrt{x+1}} = \frac{1}{\sqrt{x+1}} = \frac{1}{\sqrt{x+1}}$ 

16) 
$$Y = \frac{1}{X}$$
 $Y' = \lim_{\Delta X \to 0} \frac{X + \partial X}{X + \partial X} = \lim_{\Delta X \to 0} \frac{X}{(X + \partial X)} \frac{X + \partial X}{(X + \partial X)} = \lim_{\Delta X \to 0} \frac{X}{(X + \partial X)} \frac{X}{(X + \partial X)} = \lim_{\Delta X \to 0} \frac{X}{(X + \partial X)}$ 

2) a) 
$$f(x)=x^{2}$$
  $a=3$ 
 $f(x)=x^{2}$   $a=3$ 
 $f'(3)=\frac{(x+h)^{2}-x^{2}}{h}$ 

b)  $f(x)=\sqrt{x}$   $a=1$ 

31)  $f'(x)=3x^{2}-2$ 
 $(0,1)$   $n_{1}=-2$ 
 $(1-2)(x-0)$ 
 $(1-2)(x+1)$ 

39) 
$$T(t)$$
  $T(10) = 115^{\circ}$   
 $(0, 145)$   $M_{tm} = \frac{145-0}{0-43} = \frac{145}{43} = 3.37$   
 $\frac{dT}{dt} = 3.37$   $\frac{dT}{dt} = k(T-T_{\delta})$   
 $T'(10) = 3.37$   $3.37 = k(115-75)$   
 $0.089 = k$